coinbase

Transaction report for Varsha Jadhav	Date range	Filter	Customer
You can use this transaction report to inform your likely tax obligations. For US customers, Sells, Converts, Rewards Income, Learning Rewards, and Donations are taxable events. For final tax obligations, please consult your tax advisor.	From: 2012-01-01T00:00:00Z	Type: all	jadvarsha@gmail.com
	To: 2023-03-20T01:35:03Z	Asset: all	626db52dda71764eff9b8d73

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees and/or spread)	Notes
2022-05- 03T13:57:02Z	Buy	BTC	0.00013034	USD	38362.40	\$5.00	\$5.00	Bought 0.00013034 BTC for \$5.00 USD
2022-05- 02T22:29:05Z	Buy	ETH	0.68345143	USD	2883.37	\$1,970.6 4	\$2,000.00	Bought 0.68345143 ETH for \$2,000.00 USD
2022-05- 07T02:49:00Z	Send	ETH	0.68274057	USD	2680.55			Sent 0.68274057 ETH to 0x6C13821151930FB3D89B0941ACE1fBd70391f1c7
2022-05- 07T21:18:19Z	Receive	ETH	0.0778	USD	2663.92			Received 0.0778 ETH from an external account
2022-06- 24T18:44:42Z	Buy	ETH	2.41546205	USD	1219.41	\$2,945.4 5	\$2,990.00	Bought 2.41546205 ETH for \$2,990.00 USD
2022-06- 25T03:01:49Z	Send	ETH	3.15148583	USD	1205.82			Sent 3.15148583 ETH to 0xAB32574343084119Bf8340C061b5A8dccc6fc532

Coinbase, Inc.

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees and/or spread)	Notes
2022-06- 26T05:47:08Z	Receive	ETH	0.5241	USD	1233.04			Received 0.5241 ETH from an external account
2022-07- 05T13:47:56Z	Buy	ETH	13.35396925	USD	1105.79	\$14,766. 65	\$14,990.00	Bought 13.35396925 ETH for \$14,990.00 USD
2022-07- 05T20:38:35Z	Send	ETH	13.87806925	USD	1162.83			Sent 13.87806925 ETH to 0xb152c96B0a4FD6C82b370cFCFEccdB959077E45a
2022-07- 08T15:11:39Z	Buy	ETH	15.91224828	USD	1237.55	\$19,692.1 5	\$19,990.00	Bought 15.91224828 ETH for \$19,990.00 USD
2022-07- 08T15:19:59Z	Send	ETH	15.91224828	USD	1230.73			Sent 15.91224828 ETH to 0xb152c96B0a4FD6C82b370cFCFEccdB959077E45a
2022-08- 08T13:34:42Z	Buy	ETH	8.11966674	USD	1808.68	\$14,685. 87	\$14,908.00	Bought 8.11966674 ETH for \$14,908.00 USD
2022-08- 08T13:43:52Z	Send	ETH	8.10649612	USD	1804.37			Sent 8.10649612 ETH to 0xa58A42C34fb097F6525322fce173f561A544156c
2022-08- 19T21:23:42Z	Buy	ETH	9.8862452	USD	1693.94	\$16,746.7 O	\$17,000.00	Bought 9.8862452 ETH for \$17,000.00 USD
2022-08- 19T21:31:06Z	Send	ETH	9.89941582	USD	1687.22			Sent 9.89941582 ETH to 0xD342132Fb169d38E6FDd85FA8D3fF8e6Fe5021f1

Coinbase, Inc.

			/4

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees and/or spread)	Notes
2022-08- 14T22:14:52Z	Learning Reward	GRT	7.23065798	USD	0.130000	\$0.94	\$0.94	Received 7.23065798 GRT from Coinbase as a learning reward
2022-08- 14T22:16:15Z	Learning Reward	GRT	7.24375226	USD	0.130000	\$0.94	\$0.94	Received 7.24375226 GRT from Coinbase as a learning reward
2022-08- 14T22:17:35Z	Learning Reward	GRT	7.22804481	USD	0.130000	\$0.94	\$0.94	Received 7.22804481 GRT from Coinbase as a learning reward
2022-08- 14T22:18:27Z	Learning Reward	GRT	7.22282412	USD	0.130000	\$0.94	\$0.94	Received 7.22282412 GRT from Coinbase as a learning reward
2022-05- 16T20:45:34Z	Buy	USDT	39432.576856	USD	1.00	\$39,590. 11	\$40,180.00	Bought 39,432.576856 USDT for \$40,180.00 USD
2022-05- 16T20:56:54Z	Send	USDT	39360.425752	USD	1.00			Sent 39,360.425752 USDT to 0xc886605DFd570db9c20A53f5eC9F4cd68eCcB67 A
2022-06- 21T22:56:18Z	Receive	USDT	746.25	USD	0.990000			Received 746.2500 USDT from an external account
2022-06- 24T18:49:45Z	Convert	USDT	818.390183	USD	1.00	\$802.49	\$817.66	Converted 818.390183 USDT to 0.65751292 ETH
2022-07- 29T16:47:56Z	Buy	USDT	480.118459	USD	1.01	\$482.70	\$490.00	Bought 480.118459 USDT for \$490.00 USD

			/4

Timestamp	Transaction Type	Asset	Quantity Transacted	Spot Price Currency	Spot Price at Transaction	Subtotal	Total (inclusive of fees and/or spread)	Notes
2022-07- 29T17:02:18Z	Send	USDT	463.408004	USD	1.00			Sent 463.408004 USDT to 0x20EAb3b0942f05A9791744edbB28BdF2b6e0b310
2022-08- 03T05:29:33Z	Sell	USDT	16.721376	USD	0.995100	\$16.64	\$15.15	Sold 16.721376 USDT for \$15.15 USD
2022-08- 04T16:14:20Z	Receive	USDT	100.0	USD	1.00			Received 100.0000 USDT from an external account
2022-08- 22T20:36:57Z	Sell	USDT	100.0	USD	0.994700	\$99.47	\$96.48	Sold 100.0000 USDT for \$96.48 USD

Coinbase, Inc.